
P O L A N D

P O L A N DP O L A N D

P O L A N D

- 67 -

•	 ADATTATORI ORIENTABILI
•	 PIVOTED ADAPTORS
•	 EINSCHRAUB-STUTZEN
•	 ADAPTATEURS ORIENTABLES

720

PART NUMBER M F L L1 L2 Ch1 Ch2
720 3GK18 # R 1/8 M12X1,5 23 / 15,5 17 14

720 31010 M10X1 M12X1,5 31,5 9 15,5 17 14
720 31215 M12X1,5 M12X1,5 34 10 15,5 17 17
720 31615 M16X1,5 M12X1,5 34 10 15,5 17 22
720 32215 M22X1,5 M12X1,5 34 10 15,5 17 28
720 51215 M12X1,5 M16X1,5 36 10 17,5 22 17
720 51615 M16X1,5 M16X1,5 36 10 17,5 22 22
720 52215 M22X1,5 M16X1,5 36 10 17,5 22 28
720 72215 M22X1,5 M22X1,5 41 10 24,5 24 28

# Senza ghiera e O-Ring - # Without nut and O-Ring
# Ohne Sechskantmutter und O-Ring
# Sans contré-écrou et joint- torique

•	 ADATTATORI ORIENTABILI
•	 PIVOTED ADAPTORS
•	 EINSCHRAUB-STUTZEN
•	 ADAPTATEURS ORIENTABLES

710

PART NUMBER M F L L1 L2 Ch1 Ch2
710 31010 M10X1 M12X1,5 31,5 9 15,5 17 14
710 31215 M12X1,5 M12X1,5 34 10 15,5 17 17
710 31615 M16X1,5 M12X1,5 34 10 15,5 17 22
710 32215 M22X1,5 M12X1,5 34 10 15,5 17 28
710 51215 M12X1,5 M16X1,5 36 10 17,5 14 17
710 51615 M16X1,5 M16X1,5 36 10 17,5 14 22
710 52215 M22X1,5 M16X1,5 36 10 17,5 22 28
710 72215 M22X1,5 M22X1,5 41 10 24,5 22 28




